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...THESE SPECIES
ARE UNPROFITABLE, SO
THEY WILL BE LAID OFF.
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UH... CAN
EVERYTHING
BE MEASURED
IN MONEY?2

7/ VEAH, MAN..

FOR EXAMPLE, IF
IT WASN'T FOR LS
DUNG DECOMPOSERS,
THEWORLD WOULLD
DROWN N SHIT.
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Situation A Situation B

Benefit by ]
Countermeasure for S.L.R. [

Damage Cost due to S.LR.

emand curve '”’éfcl

Demand curve at A
l T Demand curve at B

Demand curve at B!
|
>
Demand

note : Demand, Price: in the market of visit to the recreaton site.
P’ price= 1o vist thaere .

Xt=: http://sim_nilim_go.ip

Xt&: lamtrakul et al. (2005).
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Bl(Travel cost method)
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=874 2 (Hedonic pricing)

. Xl
— IRt ZEAD} 76O LHFAJO| Ol KEARO| ZHX|O| O]X| L
oS mofstol Y40 IHNE HYHOR 2%

Situation A Situation B Situation C

Land Price 4 Damage Cost  Benefit by
== ’ due to S.LR. / Countermeasure
/ for S.L.R

A B (CRSTIAE LGRS Figure 3-4-3-1
Hedornic price method.

© http://sim.nilim.go.jp
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2 233 (Averting Behavior)
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=71 B 7z| =4 (Contingent Valuation Method)

~ B & S 45 B
L .S sS4

-~ stone wall

How much are
you willing to pay

5 Damage Cost Benefit by
T wer it o tgs.L.R. Countermeasure
for S.L.R.

or

WTP to avoid WTAC to WTPtoget WTACto
BatA recive B CatB abandon C

note] WTP: willingness to pay
WTAC: willingness to accept compensation

32 7tz 7 718 -AHE



(Contingent Valuation Method)
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=71 B 7z| =4 (Contingent Valuation Method)

4 )
® CVME A|ZQAHWTP) 2t E&|AH(WTA:willing to accept
compensation)= 2|80 2 A S e AESLUM S

Y (ES:Equivalent surplus), E&YH (CS:Compensating

Surplus)es 71& + US.

Vl(yj —WTf)j,Zj)—l-Slj :vo(yjazj)_l_ng

- J

024

SN TR} 7| A



=71 B 7z| =4 (Contingent Valuation Method)
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(Contingent Valuation Method)
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ZAZXRN EFAME(Conjoint Analysis)

- MBI OFFOYN AHAe 282 BASE ENO B

«Green&Rao®l 23 AHAIZAHHOZ AT

Krantz&Tersky2 HZQIES TMAHAZG
Huce T || ez 2oict 2esin
Debreut 2HH2=
AN
HF AR SR
AL
l [ ] [ ] [ ]
19201% 1960 19641965 1969 1971 1973 19804% | -2HM &a, Bedst 22 MHZ YE,
5 42 Boe| mg
2

Stz A4

Davison®l &&°fel
AN
=0

Kruskal, Carrall, Young®l <l

HAPIES A= FE
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(Conjoint Analysis)
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HXOIEZ M (Conjoint Analysis)

Suppose you are facing the choice of buying a new car. Choose one of the following cars according to

akraneac

co-bo

oco-LAKS

MOHE-BES Vak-maav—avab-cbaa + to-binanveof-t
yUul JICITITTICTO. TUU THAY CTVUIT UITUUOT TIUL LU Uy dily Ul Uicot Ldlo.

Cars attributes Fiat Punto Ford Focus Volkswagen Polo

1.2 16V ELX 1.6 16V 1.4 16V
Price £9,750 £ 10,120 £12,935
Number of Seats 5 5 5
Cubic capacity 1242 1596 1390
Gear Manual Manual Automatic
Maximum speed 172 km/h 185 km/h 171 km/h
Number of doors 3 5 3
Consumption (liters/100 km) 6 6.8 6.4
Baggage car 1.080 dm3 1.205 dm3 1.184 dm?3
Which would you buy?

Fiat Punto?

Ford Focus?

\Volkswagen Polo?

~

34 Q=B 7L 71H-AtE

Would you prefer not to buy any of these cars?
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LA oigt 2| H|-EO|2t= 712 g0l BojA|7| =0 B2 BRE0| U=

® 1382 7|Z0 0| 0| 8%[0] 2 CVM &2 Aot £HEE FA 72| & &Y + UAEF CAE A

LS
83H= 20| BRI,

035

SN TR} 7| A



A&7t

E-Aot+2] S712|

H[AFE 2]

4k

32 7F2178 7t 71 A

oII
i

I.

036



C EYR|5tA9 71X|B}

32 7F2178 7t 71 A 37



ESAlot+2] 72|87t

UHHEQF HrEOF =EY UOFA|

QA G2 (E/ha) 19.01 34.15 34.15 34.15
2006 | Z{Z|H|E(}/E) 76,759 76,759 76,759 76,759
M2 (ha) 200,781 1,208,309 792,905 | 6,473,057
QABRIASI}Z| (B OHY) 292,977 | 3,167,363 | 2,078,459 | 16,967,954
Z 71| (4 2HH) 22,506,753

® EQfO| At A 475

UHHEQF HES =EY AU OFZ|

A A+ (E/ha) 516.7 577.9 11,714.0 2,779.8
2006 | CrE2{cio 36.77 36.77 36.77 36.77

E+97HE/E)

M2 (ha) 200,781 | 1,208,309 792,905 | 6,473,057
SRR 47| (B DHY) 3,815 25,675 341,516 661,618
Z 71| (44 THd) 1,032,623

BHAQ] 71| L7t 7| -AL|



ESAlot+2] 72|87t

® Eo| 7| M35

HUET TEY =EF HOFA]
C02 E4F(E/ha) 0 3.43 12.15 7.79
2006 | CO2 A|7{H|-(H/E) 27,888 27,888 27,888 27,888
2 (ha) 716,143 | 1,208,309 792,905 | 6,473,057
C02 A Zt7tx|(HHD) 0 31,554 73,346 383,908

Z 71| (84 o) 488 808

® ZE2 AELRN 2 7|5 (2006'F 7| )

= HEY YA ZH|71=| (H2E)
JAHE 1,146,565 (M/T) 135,000 (¥ /ton) 154,786
22 28,201,156 (m?) 14,000 (§&/m?) 394,816
At 5,802,000 (m?) 20,000 (&/m?3) 116,040
Z 7fA| (M) 665,642

o EYO| HEO|N 2F 7l 7t5St nHE, D, AHZbo| He| = St

SN TR} 7| A 39



ESAlot+2] 72|87t

o7 95% A1 2| 7t 2| HO| A2
E‘I--?-I O -
= JESINED stel 2 A9l 3
713 () = 7,430 6,220 8,640
19984 7| & L4 89 160 74,640 103,680
74 () = 11,994 10,041 13,947
20064 7| = L3 143,927 120,488 167,366
ZZ (WO = 193,802 162,241 225,363
20064 7|= L3 2325625 1,946,889 2704361

® 0|3 2/(2000) YO LAUNE HZo| 7t1Gt | EOIAIHS 7 430U 02 £
o MZA|HO| 19980| 22 2006 7t1AS £Z0 CH|510] W 7 ASAZ H]
2 HHI5L0] 2006\ | O ALY AHE

® 20061 MZ 2| FHAA(SHY) 16,158,334 717
o IUME BZo| FAF Jtx| 2YO2 HIAYIIAE EF5ID 9US.

- =

3]
o
(=

=
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ESAlot+2] 72|87t

® 2|5t40| L2402 MO 7t

X|StTAIE & E K]
(Hton) (R 2k3)
M=t 754.3 1,823,235 1,375,266
oo 425.6 1,694,807 721,310
noi 310.9 200,391 62,302
2,837,382
HEME 226,685.7 2,896 656,482
7|E} | 28 1,025.2 8,425 8,637
o ]| 681.7 19,635 13,385
2IIz| & &5t A Q! R|5t4L] 7tZ| & 4=
® 2|5t40| iHH| 202 M40 2 HIIX|E A0S0 A4+ QFO= MEY
o M4E0| 29 |3t40 2E9 QARG Y 222 HWFLIIE M2
® 2|5t40] Y At Ao HATTHE F5HH R|5t420| A4 o2 Q)
712 & AEE = US

42
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ES-Alol+2 71=|18 7}
o 720 ChHI3 421 20| 1)

95% 412|717t 2| o ApZ oA

B =2 A=

oI = o=
7t () = 3,570 3,150 4,050
19973 7|= L4 42,840 37,800 48,600
7t () = 5,374 4,742 6,097
20063 7| = LA 64,492 56,905 73,163
S (uHOEY) < 86,841 76,624 98,517
(= HRHXA A4 L4 1,042,086 919,488 1,182,199

o FJ=2 (19992 A 2AE

¢ 7tF0l ItE B YA E S H e A48 A Z2AF = H[FA| 7 HE
= flet Aot AFEY 714

® AR A5t ArE RO OISt A E7t2|= E 3,570 /7t

¢ AFAIHO| 1997'30| B E 2006'3 7I+45 +F0f| HiH[ot0] @ 7I2S+F

H|- 82 HHH50] 2006 Z|EOALH AHE
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® EQI|5t40| HIAMREE JEx| BT

ETAlot+2] 7128

I

= XA 2| A H =2 = A O 2 =
= A0 M = ZAEIZSH Y S 0| 8o EFL Aot 712 & &7
ES5 = =AHe C AMBo XFAS O (@) y d =3
o 55| H|AIZZ1Z| S0 S S FOoA 4 ES 25U H|ALRIIZ| So|A = FLH7FR| &
=21
=1 O
AB X ALO zlce (o] MG = k=2 (@) S A =z
o AE A 22 M=o 7i12 HYPSIRAL, 5 1008 S QL= M2 4, SHH,
A o o HSts AMBo Al
e, A P HE 2 Fd6l 472 HA
H 33 422 SYAR SIHSHEURER) (CHR: @y H 39 E2IA SEAL AHEL06ERE) (= Eow)
W ?E Y= 2
o 0 A = o A
4% 37 10 &7 e 46 43 95
(54,00 (46,00 £100,0) (48,4 (51,8 {100}
E 0= A i ANE 0= A
ZEng 7 5 = g e = =
(47,13 {529 £100,0) (49,58} (50,58) 100}
2004 | LN SOCH Ol A 200} | anry sacy o & A
o o 36 21 13 e a5
33 Z0 19 15 a7
(37,9} (23,00 (21.8) {(17.3) {100,0 (37.9) - (zzij_jc _(‘2_?-'35 (20,00 1003
cape 72 FET OFFE W ovmms omus o copey 22 T OFE O W owns ogmws o
DE2E 0 E 2z 27 30 B &7 DEwE 4 20 28 39 4 0 85
(oo (23 {25 21 (51,0 {545 (7o {100,000 (4,23 (21,05) (29,5) {41.05) (4,23 (0} (100}
= = == = - EESEN =InE = - = sio] =
gqme  FE Tl g,nf% U2 gemz guws A agme  2F SO ErE WA gunz oguus
{00 (3.4} (41,4) (3,4 40,5 (11,5) 100,00 (5.3) (30,5 (6.3) (46,3} 11,6 ol {100}
To0drE 100~ e 300~ 00~ SO0~ ooars 1000t 100~ 200~ 400~ SO0~  GODOH 9
e 015  =000r@d  S00QH  4000tg SO0 GO0OHY DHg H N2as 01F z000r s000be 4000+ SO0k ROOTHE O|R
MRS Z T 17 18 g 7 a7 -= 7 17 16 EH ] 13 2 95
(2,3 (5.8 (195) (207} (33.3) (4,6) (13,8) (1o0,0) | (7.4) (179 (188 (337) (8.4 13,7 (210 {1003
?Eﬂ o o $Ea Focl el 3=1
HET EMEEID =344 g3 Hetd A - (MEAI =344 dad Her A
™ 41 16 13 16 &7 . 45 17 19 14 95
(47,13 {18.4) (16,13 {16.4) £100,0) {47.4) {17.9) (20,00 (14,7 {100}
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A EOF.2|514.0| 74| T}

® EF-Alot2| ot 7tE A 22 A=. (T E/3)

dax=oA=d

EYREE 7,287.7¢ 4,308.4% 10,266.92
X|Sl+£ 2 5,654.3% 3,817.8¢ 7,490.72

® E-Alot2 =7t A 22 A=Y, (2005 128 12,988,27471) (H9: E/E)

95% =7t

x| =oAad

EYRE 1,165 2 6882 2 1,641 2
X|ol+=8& 9034 ¢ 610 < 1,1979 &
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® EF-A5t+2| 7|50 [HE LHF 7fZ] (THS: HiEH)
T E YutEQF HEY =EY U OFX|
QHEE HM3|7}K| 292,977 3,167,363 2,078,459 16,967,954
2Kl X2 THA| 3,815 25,675 341,516 661,618
§ CO2 MU 0 31,554 73,346 383,908
T xtel XEAQ| 7HA| 665,642
. FA7HA 1,398,000
EZ9| 7HX| 26,091,827
g8 =8 2Y8 7|t
AFASITHK] 1,375,266 721,310 62,302 678,504
AX1S E T} | 1,042,086
SMTHA 1,083,600
X|5t=2] 71X 4,963,068
E-X|5t2| 4hFE 7HK| 31,054,895
% & ARoM MEH EF-A 5t 712 = A 3NZE O| o2 EFHER 2F 26X, X5t £F0| 2F 5
ZE ME (EL-A5I5Y A 7fz|oA dHES L7
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® Type I Tobit Model ® Type I Tobit Model o QX3
zf —3:1,3 -i—ulZ | Yo; —}:t'QIBQ-!-uQZ Uy ~N([O] [1 p(,])
* . ) 2
> Il if u11>0 |‘.U2; if y25>0 Uy 01" lpo &
Yii Yoi =\ n - e % _.
Y1 ]O if Ulz =0 5 !\0 1f yy; =0
o 2153 ka
(y; _x_?_’,f)’)? ]

L(B.0%)= > 1n [1—45(%7'3)}— E% In27+Ino” + =

» Type [ Tobit o
y; =0

y, >0~
> Type T Tobit  L=[]P(y;, < 0)x [T/ (yulys; > 0) Ay;; > 0)
0 1

o WTP &4 &4
0}

~Type 1 Tobit  E(WTP|x;y, >0)=a"f+0-=
i

> Type T Tobit [II TH rg} [1 ¥+pcr/\(r1 3 )]
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LY
Eo| 28 7|50 EQ(1)
B . S S R
EX ngo e THx| 204 (1) ©4| 0] 2+04 (0) 0.016 0.126
donation 7|22 7| EESHHT) 7| 2 & 2 3HEHO) 0.218 0413
adjacent MATZ| SHHR|S | AATZ| L Z|H(1) A TA] Q12 Z|H(0) 033 0.471
I+ L5 O|ok L§ O|AF 5L O|Ot L4 O|AF 10w O]OF
ogljg_l period HZ712t (13I_10'|-=I‘_C(’1|16:(Z) e S BITH2RE Ol 10d 1™ 559 0.972
engage SAOIE A p=7 FAFA TR ZAK(T), B SAHO) 0.626 0.805
age L}O| 20CH(1) 30CH(2) 40CH(3) 50CH(4) 60CH(5) 70CH(6) 3574 1.271
job1 HEZ DRI HB2I(1) . 0.056 0.230
_ 5 0]7|=(0):
job2 INR=RS ALRRL 71=21(1) (job0) 0.652 0477
- (R3], 34, 28)
job3 7| 5/==3 7| 5/moj2], 4-82(1) e 0.224 0.417
* =
732?@ education LErE CH-Z O] (1) B O] 2H0) 0.392 0.489
EA
e 241007+ 0|5H(1) & 100~2002H (2)
_ - 21200~3000 M (3) ¥ 300~4002H (4)
AEAR
income LSLE 24 400~5000H (5) 500~6005H(6) 3.976 1.429
‘2 600~7007H3E(7) 27002 0] 4H(8)
type FHYH] ThH=22EH(1), 0]2)(0) 0.15 0.357
ArlE™ bid 27| HAISH  2M/SH /10U R/ 15H /208 Y/253 Y - -
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o Ch3t Z-EAZS 0| adjacent | 0.360 0.481 0314 | 0465 | 22.079%
o oty age 41749 | 12514 | 39462 | 12691 | 41.373%
B 40| THO| QJO0{M R & 2 period 5.383 1.896 5403 | 2020 | -2.372%
EAreE A 84 789 2(0[7t g engage | 0983 | 0968 | 0434 | 0623 | 147438
Ch= A
* need 0914 | 0281 0898 | 0303 | 12.484*
o Z-3ATF ngo 0.034 0.182 0.006 0078 | 43.827#
T donation | 0989 1561 0.372 1054 | 101.334*
7= Iyes Lo
o 2 2 edu 3.829 1.181 3.594 1.075 46.672%
‘Syes Sno
——+ - income | 4.029 1432 | 3935 1398 | 14.926%
nyes n"no
L ) type 0114 | 0319 | 0169 | 0376 | -36.891*%
2, 2t w2 22 Ho| ot
2.9 2,8 242t wao| BEWEA HEO| A 175 325
nuesgl' nno% 2t2t H=0| :H:—E37H
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SBDC CWM

DBDC CVM

Type I Tobit

Type I Tobit (Sample Selection)

Protest

adjacent 0.022(1.43) 0.039(1.66)* 2.154(1.29) 0.259(2.07)*x 3.222(1.82)*
age 0.004(0.59) - 0.131(1.82)* 0.016(2.99)*x*x
period 0.014(1.74)* -0.046(-1.72)* -1.534(-1.75)* -0.295(-2.06)*x -5.846(-2.97)***
engage 0.024(2.89)xxx 0.051(5.58)xxx* 9.557(5.60)**x 0.557(6.68)**x 7.015(3.95)%x*x
need 0.033(1.18) - 4.693(1.70)* - -
ngo - 0.130(2.65)*x*x* - - -
donation 0.037(2.27 ) 0.013(2.45)x* 10.740(6.00)*** 0.182(3.84)*x*x 1.964(2.73)***
education -0.014(-0.81) 0.016(1.94)* 2.009(2.57)*x 0.160(2.93)*x*x -
job1 0.034(0.95) - -4.006(-1.71)* - -
job2 0.015(0.44) - -6.503(-3.28)*** - -
job3 0.024(0.68) - 1.201(0.43) - -
income 0.008(1.46) 0.030(1.72)* 2.079(1.55) - -
type 0.027(1.37) - - - -
bid -0.425(-7.78)x*x -0.303(-5.59)xx* - - -
constant 2.426(18.33)xxx -0.059(-0.42) -25.688(-4.00)**x* -1.981(-5.89)*** -3.439(-0.56)
o - - - 0.729
p 0 0 0 11.207
N - - - 8.175
obs. 500 500(Censored:325, Uncensored:175)
Log likelihood -758.834 -361.611 -855.664 -
Wald chi2 33.24%xx A8.17**x - 17 52xxx
LR chi2 - - 100.03*x* -
Pseudo R2 - - 0.057 -

ZEE MY A5 - SAFE ADIF. *, wx, w2
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: (75,348¢)
Model 2188%
! O i (26,260¢)
Model % % 1,214&
. (14,563¢)
69,226
A r
Model | (830,716%)
Y 2,389
. - (28,665¢)

CEQO| FHAI EYRA0| B>

oFo 7t1ct
DBDC 98,976 26,2604 72,716¢H
Tobit I 14,563 84,413
Tobit T 28,665H 70,311
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<EHAA SO Jtx|2t e EY >
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